KANGOUROU MATHEMATICS COMPETITION 2022: LEVEL 3-4 / EMINEAO 3-4

3 povadeg

1. Buzz the bee wants to reach the flower. Which set of directions will
get himthere?

H péhooa BAZ BéAeL va ptdoel oto AouAoUSL. Moleg odnyieg Ba tnv
odnynoouv eKei;
A)-|-]l— B)ll—-1] C)—-|—-]-
(D) - =] ()| —— 11

2. Laser beams reflect in mirrors in the way shown in the picture to
the right. At which letter will this laser beam end?

Ol aktiveg Aéllep avTaVaKAWVTOL OTOUG KABPEDTEC LI TOV TPOTIO TTOU daivetatl
otnv elkova dela. e molo ypappa Ba teAewwvel n aktiva Aélep;

3
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(A) A (B)B (€ cC (D)D

3. Rossitza wants to put 2 coins in each row and in each column of the grid.

Which coin does she need to move to an empty cell?

P

(E) E

H Polita O£AeL va BaAeL 2 voplopota os KABe oelpd Kol o€ KABE oTAAN TOU MALYUATOG.

Molo voplopa xpelaletal yia va pLetakivnBel os éva adelo Keli;
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4. What is the smallest number of boxes that Bill has to move to be able to open the dark TRAIN box?
Molog lval o UIKPOTEPOC APLOLOG KOUTLWVY TIOU TIPETIEL VA LETOKLVAOEL 0 MTUA yla va UImOPETEL va avolgel
TO okoUpo kouti pe tnv AéEn TRAIN;

pooks board games
—  music sheets —] 7]
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fed ANimgjg bedding o
) |
l l
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(A)3 (B) 4 (€) 5 (D) 6 (E) 7

5. Kengu always makes one large jump followed by two

small jumps on the number line, as shown in the picture.

Kengu starts at 0 and ends on 16. %
What is the number of jumps that Kengu makes? 0 ' ) )
O KwoTtac kavel mavta éva Heyaho aApa akohAouBoUpevo

a6 SU0 ULKPA GAMOTO OTNV APLOUNTLKA VPO, OTIWE

daivetat otnv elkova. O Kwotag Eekvael oto 0 Kat

teAelwvel oto 16. Molog eival o aplOpdg Twv AARATWY TToU
kavel o Kwotag;

(A) 4 (B) 7 (C) 8 (D) 9 (E) 12

6. Anna makes a jigsaw where two squares with common sides do not contain the same number.
Which piece should she use to complete her jigsaw?

H Avva ¢tidyvel éva rtadh 6mou U0 TETPAYWVOL LE KOLWVEG TIAEUPES 3 2|5 4|2(1
Sev mepLExouy tov (610 aplBpo. NMolo KOUUATL TTPEMEL VAL XPNOLUOTIOLOEL 143 1(3(4
yla va oAokAnpwoetL To 1ol tng; 2 | 5 | 5 2|1
4 1 3
312/4/2|5|2
4(1(3|1|3|4
(4] 1] 2] [2] 3]
3|14 2 4(1 3 3|1 4 2|1 4
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7. 2022+0=2020+0
Which two numbers can be written in the two boxes to make the statement correct?
Motot 8U0 aplBuol prmopolv va ypadtoUv ota SUO KOUTLA yLa va Elval CwaoTr N LlooTNTA;

(A)3,5 (B)4,1 ()3 ,4 (D)7 ,2 (E)9 ,8

8. John builds the tower shown. What will he see if he looks at his tower from above?

O lMavvng xtileL Tov upyo mou daivetal. T Oa SeL av KOLTAEEL TOV TTUPYO TOU Ao MAVW;

g | =) |[e D

(A) (B) (C) (D) (E)

4 povadeg

9. Five cars numbered 1, 2, 3, 4 and 5 are moving in the same direction.
Mévte autokivnTa pe Toug aplBuolg 1, 2, 3, 4 kal 5 kivolvtal mpog tnv dla katevBuvaon.

T e S S

First, the last car (5) overtakes the two cars ahead of it. Next, the second last car overtakes the two cars
ahead of it. Finally, the middle car overtakes the two cars ahead of it. In what order are the cars now?
Mpwrta, To TeAeuTaio autokivnto (5) mpoomepvd ta U0 autokivnta mou Bplokovral UnPooTd Tou. XTn
OUVEXELQ, TO SEUTEPO AUTOKIVNTO Ao To TEAOG MPOooTEPVA Tal SU0 autokivnTa mou Bplokovial unpootd
Tou. TéAoG, To peoaio auTokivnto mpooTepva ta U0 auTokivnta ou Bplokovtal UmpooTd Tou.

Me Tola oelp@ €lval Twpa T AUTOKIVNTA;

(A) 1' 2' 3' 5I4 (B) 2' 1' 3' 5I4 (C) 2' 1l 5[ 3I4 (D) 3' 1' 4’ 2I5 (E) 4' 1' 2' 5I3

10. The ages of a family of kangaroos are 2, 4, 5, 6, 8 and 10 years. The
sum of the ages of four of them is 22 years.

What are the ages of the other two kangaroos?

O nALKigg pLog olkoyévelag Kaykoupo ivat 2, 4, 5, 6, 8 kat 10 etwv.

To aBpolopa Twv NALKLWY TwV TEGOAPWVY amd auTd eival 22 £tn.

Tu nAwieg €xouv Ta GAAa SU0 Kaykoupo;

(A)2,8 (B)4,5
(C)5,8 (D)6, 8
(E) 6,10
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11.

During my holiday | sent the five postcards shown below to my friends. There are no ducks on Mike’s
card. Cara’s card has the sun on it. There are exactly two living creatures on Paula’s card. Lexi’s card has a
dog on it. There are kangaroos on Heather’s card. Which card did Mike get?

Katd tn StdpKela Twv SLOKOTIWY oU E0TEINA TLG TIEVTE TAXUSPOULKEG KAPTEG TOU daivovTal MapaKATW OTOUG
diAoug pou. Aev utdpxouV TIATILEG OTNV KApTa Tou MixaAn. H kapta tng Kdtiag €xel Tov nALo mavw tng.

Yrapyxouv akplBwg dUo {wvtavd ovta otnv Kapta tng Navlivag. H kapta tng Avipng €xel £vav oKUAO VW
TNG. YIapxouv kaykoupo atnv kapta tne louAlag. Nola kapta mtpe o MYaAng;

1(C)

12,

Mosif wanted the sum of the three numbers in each row and in each column of the
grid to be the same. He made one mistake. Which number must he correct?

9|15
O lwond nbeAe to dBpolopa Twv TPLWV aplBUwWyY os KABe oelpd KoL o€ 3|7 |6
KaBe otAn Tou MA£ypatog va gival to i6to. Ekave éva Adabog.
Molov aplBuo npémnet va Slopbwoael; 417 |4
(A)1 (B) 3
(D)5

(C) one of the 4s (éva amo ta 4dpLa)
(E) one of the 7s (éva amd ta 7dpla)

13. Aladdin has a square carpet. There are the same number of dots, arranged in twolines, along each side
of his carpet. Unfortunately, the carpet has folded. How many dots are there on Aladdin’s carpet?

Tou AAavtiy;

O Ahavtiv £xel éva TeTpaywvo XaAl. Ytapxouv L.oaplOPEeC KOUKKISEG, SlateTtayuéveg os U0 YPAUUES, KATA
UNKoG KABe TMAEUPAG TOU XaAloU. AUGTUXWG, To XaAL £xel SUTAWOEL. MAoeC KOUKKISEG UTIAPYOUV OTO YaAL
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(A) 48 (8) 44

(C)40 (D) 36 (E) 32
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14. Joanna folds the number square twice as shown. Then she punches a hole through the black spot
shown by the arrow. Which numbers does she also punch through?

H lwavva Suthwvel To aplBunuévo Tetpdywvo SUo dopég omwe dalvetal. EMelta TpUnd péoa amno to palpo

onueio mou beiyvel To BEAog. Moloug aplBuolC TPUTA EMioN ;

/\

13/14|15/16(17 |18
19|20(21|22|23|24
25(26|27|28|29|30 - -
31(32|33|34|35|36

(A)8,11,26, 29  (B)2,5,32,35 (C)15,16, 21,22 (D)14, 16,21, 23 (E) 15,17, 20, 22

15. The pupilsin a class sit in rows. There are the same number of pupils in each row.

There are 2 rows of pupils in front of Robert and 1 row of pupils behind him. In his row, there are 3 pupils
on his left and 5 pupils on his right. How many pupils are there in this class?

Ol paBOntég piag taéng kabovtal os oelpc. YIApXEL 0 i6Lo¢ aplOudc pabntwy os Kabe oelpa.

YIapyouv 2 GEIPEC LaBNTWV UItpooTa armo tov Avdpéa Kal 1 oelpd pabntwv niocw tou. Itn oepd tou,
UTTAPXOUV 3 HaBNTEG OTA APLOTEPA TOU KoL 5 pabntég ota g€1d Tou. MdooL HaBNTEG UTTAPXOUV GE QUTH TV
Taén;

(A) 10 (B) 17 (C) 18 (D) 27 (E) 36

16. The cube in the picture is built from the three kinds of wooden blocks shown. How
many white wooden blocks are used?

O kUBOCg oTNV £lKOVA €lval KATAOKEVOOUEVOC arto Ta Tpla 16N EVAWVWV Tepaxiwy ou
daivovrat. Noca Aeukd EUALVA UTTAOK XPNOLLOTIOLOUVTAL;

(D) 16 (E) 19
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17. Wanda chose a few of the following shapes and said “Amongst the shapes | have chosen, there are 2
coloured ones, 2 large ones and 2 round ones. What is the smallest number of the following shapes that
Wanda could have chosen?

H Adurmpn SLAAEEe HEPIKA OTTO TO TAPAKATW OXNUATA Kal £iTte « MEeTAEY TwV OXNUATWY TIOU €XW ETUAEEEL,
UTLAPXOUV 2 XPWUATLOTA, 2 HeYAAa Kot 2 oTPoYYUAQ. Molog eival o HIKpOTEPOC aplBUOG amod To MopaAKATW
oxnuota mou Ba pmopouaoe va £XeL eTUAEEEL N AduTpn;

A O

(A) 2 ()3 (C) 4 (D) 5 (E) 6

18. Three football teams participate in a sports tournament. Each team plays the other two teams
exactly once. In each game, the winner gets 3 points and the loser doesn’t get any points. If the
game finishes in a draw, each team gets 1 point. At the end of the tournament, which number of
points is it impossible for any team to have?

Tpelg modoodalplKEG OUASEC CUMUETEXOUV 0 aBANTIKG Toupvoud. KaBe opdda mailet pe tig aAeg Suo

opadec akplpwe pia dopd. e kabe matyvibl, 0 VIKNTAC Ttaipvel 3 mOVToUC Kat o NTtnUEVoC Sev maipvel

TIOVTOUG. Av To TtayviSL teAewwosl loomoalo, kabe opdda naipvel 1 Babud. 2to TEAOG TOU TOUPVOUQ, TIOLOV

apLBud movrwy eivat advvaro va £xel omotadnnote opada;

(A) 1 (B) 2 (C) 4 (D) 5 (E) 6

19. A pyramid is built from cubes with a side-length of

10 cm. An ant climbed up and over the pyramid, as shown
by the red line. What is the length of the path walked by
the ant across thepyramid?

Mua upapida eival xTiopévn amd KUBoUG e HAKOC
TAeupag 10 cm. Eva puppnykL okapddAwaoe mavw amno

NV upapida, onwe daivetal amd TV KOKKLVN yPAUD.
Mo6oo elval To LAKOG TOU LOVOTIATLOU TIOU TTEPTIATNOE

TO LUPUAYKL KATA UAKOC TNG TUpapidag;

(A)30cm (B) 60cm C)70cm (D)80cm (E)90cm
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20. Alma wants to put one of the pieces shown in the middle of the picture so that a child in A is
able to travel to B and to E, but not to D. She can rotate the pieces. Which two pieces could she use?
H AApo B€NeL va BAAeL £va oo Ta KOUATLA TTou daivovtal oTn HES TNC EKOVAC, £TOL WoTe £va Tatdi oto
A va pnopet va ta€ldéPel oto B kat oto E, aAAa oL oto A. Mmopei va meplotpéPel ta Koppdtia. Mowa dvo
KOUUATLO Ba umopoUoe va XPNOLLOTOLNOEL,

2, B %
N K,

(A)1,2 (B)2,3 (€)1, 4 (D)4, 5 (E)1,5
21. Ahmad and Zhaleh start moving from point A 5m
with the same speed, in the directions shown. Ahmad
walks around the square-shaped garden and Zhaleh walks c ° _ x
aroundthe rectangular-shaped one. 0 %
They meet again at A. What is the smallest number of laps . é% ﬁ s Lom
around the square-shaped garden that Ahmad could do to sm Al
meet Zhaleh there? = 1 ® T
0 Adpéag kat o Zwr) apyilouv va kvouvtal amod To onueio A pe c A 5
Vv (6la TayUTnTa, MPOG TG KateuBUVaoELS Tou daivovtal. w0 -
O Av6péag mepMATA yUpw o Tov TETPAYWVO KATIO KAl N Zwi * A
yUpw amo tov opBoywvio. Zuvavtiouvtal Eava oto A. Molog elvat 0 MIKPOTEPOC 10m

aplBuog mou Ba Umopouoe va KAVEL yUpw armd Tov TETPAYWVO KITo
0 AvOpéag yla va cuvVaVTrOEL TN Zwn EKEL;

(A)1 (B) 2 (€)3 (D) 4 (E)5

22. Five children ate some plums. Lauren ate two plums more than Sophie. Betty ate three plums fewer
than Lauren. Claire ate one plum more than Betty and three plums fewer than Alice. Which two girls ate
the same number of plums?

Mévte moudla epayav Sapdoknva. H Aopev Eédpaye dUo Sapdoknva MePLOCOTEPQ Ao Th Z0dL.

H Mrnétu £daye tpia Sapdoknva Aydtepa amno tn Aopev. H Khep £daye éva Sapdoknvo MepLOCOTEPO ATIO
v Mrétu Kat tpia Sapdoknva Atydtepa amnod tnv AAikn. Mota §Uo kopitola £dayav tov iblo apldud
dapdaoknvwy;

(A) Claire and Lauren.
(B) Claire and Sophie.

(C) Lauren and Alice.
(D) Sophie and Alice.
(E) Alice and Betty.

(A) KAEp kaL Adpev.
(B) KAép katL oot
(C) Nopev kat Ahikn.
(D) 26t kot AAIKN.

(E) AAikn kot MméTu.
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23. The small caterpillar shown in the picture curls up to sleep. What might that look like?
H uikpn kapmia mou dalvetal otnv eikova kouAouplaletal yla Unvo. Nwg propel va daivetal ;

e 0 0 O

(A)(B) SO0ty 60 e © Il & @

24. In the grid, there are three type of squares, white, grey and black.
Each has a number hidden and the same number is hidden under the
same color square. To the right of each row, the sum of the numbers

hidden under the squares in that row is given. Which number is hidden
under the black square?

—= 34

210 TAEYHO, UTIAPXOUV Tpia €ldn TeTpaywvwy, AsUKaA, yKpila kal povpa.
O i610¢ aplBUOC KpUPETAL KATW OO TO 810 XPWHLA TETPOYWVOU. ITA
6e€1d kaBe oelpdg, Sivetal to dbBpolopa Twv apldBuwv ou kpuBovtat
KATW omtd Ta TETPAYWVO TN OELPAG. Molog aplBuog kpUBETAL KATW AT
TO HaUPO TETPAYWVO;

—= 26

(A) 6 (B) 8 (C) 10
(D) 12 (E) 14



